AR

| (EROARFZFAFHET X MR (#%HA) coas5m)

SRS L TVE A
s RS Yij5eR SRE AE SREEER

B & B8 B & ¥ % ®| 2oxum 11 10 1.1

E £ ¥ & % | ompm 11 11 1.0
x 5 L 2 B

B E SO0 — K LB R -

[ = = ow £t & ® 1| - 5 5 10

RE SO0 — K L2 -

[(HO0—/Ob-0S2=5—savEs) | oo 4 & e
2 x = e B ompm o 21 1.0
Iy
| D b = 1 2 HEE 17 15 1.1
it
E # 2 #8 # 2 B| omum 7 o 35
22
Rlpg 2K - v e ozgem 4 3 1.3
%

B AK—YIRIXYNER| 2HBE 3 2 15
=
&
BlE B OB OB 2 B 2zmm 14 12 1.2
15

2 B ® B B -
Ermax>7zan] S 18 18 10
B
L o2 B OB % R -

[B®/Y 4TV 2EH] | SHE S 2 LS
5 &2 m x = % ®| onem 4 2 20
5
&

*:.;1 B B & ® 2 ®| opEm 3 o 15
.| 2 %= 3 | 3nEm 7 o 35
&=

= ® & £ % #B| 3nEm 7 4 1.8

= e B (6Es) | 2nEm 2 2 1.0
B

ERESEN SN @EHN| 2nER o 2 1.0
=
2l B8 #£ & % #®| opEmn 5 5 1.0
=
2 = = 3 B 2mmm 8 4 20
£ = S 3 M| ommm 24 2 12.0

62





